PREP-E-BOOKS

(HUMAN PHYSIOLOGY)

1. FeaTEe S RIT AT oY T HdeTia g &

The sensitive are of the human tongue to bitterness is

(@ A (T (b) HEHFT
Tip Middle part
(c) U ®IUmT (CORRERIR
Posterior part Edge
2. 94 IRR A UidH &1 ureH fafeafaa § 9 g s
YR g1 82

In human body, the digestion of protein begins in which of
the following organs?

19

(@ YPd (b) He
Liver Mouth

(c) BIdtafd (d) SR>
Small intestine Stomach

3. U o gE TeT # A o A faeT s yRy giar g?
In the buccal cavity of human being digestion of which one
of the following get started ?

(@) WA (b) @&

Protein Fat

) PERERST d) SWRIFTAIBIS T
Carbohydrate None of the above

4. BYF (A) : U9 YRR A gFHd 991 & UTEH | Hgdyqut

YfireT fAuTar 81
BRUT (R) : TPd & AEAYU! THL-UTIS TWIISH Scad
PAT 8| Code/Te :
Assertion (A) : In human body, the liver has an important
role in fat digestion.
Reason (R) : Liver produces two important fat-digesting
enzymes.

(@) AMRRTFITEIE, 3R, (b) ASMRRIA TS, R
AT TG WHIPU 3 R, A T T5I TSP Tel

Both A and R are individually %

true and R is the correct

explanation of A

Both A and R are individually
true, but R is not a correct
explanation of A

(€) AWEE, WYRITAAS  (d) ATAd g, QRIS §

Ais true, but R is false Ais false, but R is true

5. HH9 oF # Fafaf@d & ¥ SRl P, uae TgH
TR
Which one of the following is not a digestive enzyme in the
human system?

(@ fefdm ORELS
Trypsin Gastrin
(c) cmfed d) uRE
Ptyalin Pepsin

6. A IRR | T & A IAATHS T i dQ1S BT
DI AT T TIHT HH 82
Which one of the following is the correct sequence in the
order decreasing the length of the three structural part
given below, of the small intestine in the human body?

(a) T - Ugull - T (b) ST - Ul - AeaTd
Jejunum-Duodenum-Illeum lleum-Duodenum-Jejunum
(c) W - AN - Uguft (d) TN - AeATd - Uit

Jejunum-lleum-Duodenum

7. BYF (A) : TUR MER & It MEAT &1 U Faa
8{&13[ (Small intestine) Agargl
PRI (R): AT (Pancreas) | WEHT BT Ura H
el SIS H 1 s | BIST AT 81
PC:
Assertion (A) : All the proteins in our food are digested in
small intestine only.
Reason (R) : The protein-digesting enzyme from the
pancreas are released into the small intenstine.
Code :

@) ARRSFEE AR, (b) ASRRIAILE, R
A &1 T TPIHR0T § R, A T eI WPTHU e

Both A and R are individually %

true and R is the correct

explanation of A

lleum-Jejunum-Duodenum

Both A and R are individually
true, but R is not a correct
explanation of A

€) AWEE, WIRITAAE () ATNds, IR G

Ais true, but R is false A'is false, but R is true

8. 3R & Ua® ¥ & Idled & fog Suferd s
aren graA FE A A A 82
Which of the following hormone stimulates the pancreas
to produce digestive juices?

(@) I (b) fewm
Renin Trypsin
c) TRifefes (d) UfRH
Secretin Pepsin

9. g;aéﬂvﬁummammmﬁmamﬁw
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In human body most of the digestive process takes place

in—
() o ORESEIR]
Pancreas Large intestine
(c) DIl 3id (d) SMAR™
Small intestine Stomach

10. T ® TUITCITRT QTR fauTea gRT |9r=aa: i
[T ST gUTAa graT -
Which organ is commonly affected by aflatoxins food
poisoning in humans?

(@) Tl (b) ST
heart lungs
(c) gJap (d) dPpd
kidney liver

11. @R fFafafad # A f5ad == & g &l 22

The saliva helps in the digestion of—

(@) T (b) TEH
Starch Proteins

© I (d @&
Fibres Fat

12. %wﬁaaﬁsrfﬁmmpamsﬁﬁmmﬁwm

The last step in our system that produces the most ATP

molecules is-
() TIDI PI UGS (b) HsgAD
Breakdown of glucose Krebs cycle
(c) S~ 4T (d) T 3udeH

Breakdown of water

13. e < fawge Fufafea syt A & o991 9@ T8
L
Which of the following about bile juice is incorrect?

(2) g8 U o dxaifta (b) ST IS @qUr, I

Last breath series

GnI BT UTHIHR R &
It is synthesized in the gall The salt present in it emulsifies
bladder. fat.
(©) IUH U TILH, I (d)  FHD! UPfd Sy gieht
T U PR & gl

The enzymes present in it digest  Its nature is acidic.
the fat.

14. IR ¥ ifafiaa @i, @seio § uiafda g

YeTRa Igar 8-
Extra glucose in body gets converted into glycogen and is
stored in—

(@) SMER™H (b) TPaH

Stomach Liver

() SHUREH @ fad

Pancreas Bile

15. WA F e § 9P TNsH

An enzyme which helps in the digestion of protein is

(@) IRud (b) TeheH

Urease Sulfatase

© ffEm (d) wfeww

Trypsin Protease

16. fUmmm # Iufya R Fafafed § 9 feaer um

gUTfad FRaT 82
The stones present in the human gallbladder primarily
affect the digestion of

(@) WeH®T (b) TP

Proteins Fats

() DERESEH (d) gfade 3 &

Carbohydrates Nucleic acids

17. TRy
FYF (A) : AT IR A & qra— H S gl
PRUT (R) : AFT IRWR A WH-3UICPH TIEH,
TR, faeme g 8|
Below are two statements:
Statement (A): The human body is incapable of digesting
cellulose.
Reason (R) : The starch-degrading enzyme, diastase,
remains present in the human body.
Choose the correct answer from the code below: Code:

(@ (A)TUT(R)EHFGIZAR (b) (A) TUT(R) I AGI &
(R) T T BTSRRI () fob=g (R) (a) T HRT
gl peicRE
Both (A) and (R) are true and (R)  Both (A) and (R) are true but (R)
is the correct explanation of (A) s not the correct explanation of
(A)
© g)w%, foeg (R) 3T (d) %\) 39 B, fobeg (R) T
I I
(A) is true but (R) is false

18. WTHIRI ATA & W & e sy R R Fifsrg—
1) Hol B Higfet it 3rfrar & wu & ygolt & Ripfe
SUA Il 81
2) it ot Y Hispet Pt ST F T H gggiT A
TR SA BT gl
3 By A A B/ T R/R?
Consider the following statements in the context of the
normal human being—
1) Secretin is produced from the duodenum as a response
to the presence of HCI.
2) Enterogesterone is produced in the small intestine as a
response to the presence of fatty acids.
Which of these statement(s) is/are correct?

(@) Pad1 (b) Fad2

Only 1 Only 2

(A) is false but (R) is true
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) 13R2aHr d) SHETAIDISTa!

Both 1 and 2 none of the above

19. fafSH &1 e Fufafea & @ oo o Sufufa o
Brar 8- 1. fUsT ot 2. wTg et 3. Ufy . gH -
Digestion of lipids occurs in the presence of some of the
following — 1. Bile acid 2. Lipase 3. Pepsin: Of these —

(8) HIT1ISIBI (b) PId13MR3TLIEI
Only 1 is correct Only 1 and 3 are correct
(c) FIT13MR2ILIEI (d) 1,23R3TS Sl

Only 1 and 2 are correct

20. AR Fifom-
i) T UTd IR B g e 7 U B
i) 3IPT 79 TP AT YHR &t SIRw1si I Aifaq
BT g auT g gar 2
iii) 3% I P YUI UTa® I ST AT 8 |
o7 fafdre &
Consider the following:
i) It is the second largest gland in the human body.
i) Its juice is secreted by a particular type of cells and is
alkaline.
iii) Its juice is called complete digestive juice.
These properties are distinctive:

1, 2 and 3 are correct

(@) TPdD b) wiETd
liver spleen
(c) SARTD (d) dRIRNF

of the pancreas of the salivary gland

21. fruafafed sy« far Fifvm -
(i) TG WS H 99T 311 T b YIT g1 91fed |
(i) TTTT WIS H 75 919 991 1 A1 |
(iii) AT YRR BIeE fHadt W vpR F T eral 31
TYRAYUT TS B bl 2
(iv) STaRID THT 3T DI Ui & =gAdT T SIS

ok

SR AT P A PYTTA S?

Consider the following statements —

(i) Fatty acids should be a part of the human diet.

(ii) A normal meal should contain 75 grams of fat.

(iii) Human body cells cannot synthesize any type of fatty

acids.
(iv) Absence of essential fatty acids leads to deficiency
diseases.
Which of the above statements are true?

(@ (i), (ii) g (iii) (b) (i), (i) d (iv)

(i), (ii) and (iii) (i), (ii) and (iv)

) (i) d(iii) Pad (d) (i) 9 (iv) pad

(ii) and (iii) only (iii) and (iv) only

22, Sifaa witrl & IR A g9 arell Fafafea & & o=
Wt wo ufthan, uras ufkar 82

Which one of the following processes in the bodies of living
organisms is a digestive process?

(@) WATNFH AU AAT  (b) TqHN BT O, R H,0 H
faueq faue

Breakdown of proteins into Breakdown of glucose into CO,

amino acids and H,0

() TP HIWEHOAT  (d) U S ST &
FYIAROT FYAROT

Conversion of glucose into Conversion of amino acids into

glycogen proteins

23. TR IR F yg ¥ A ) qwr N B, 7 Pl &
AP & favg a1u1 S wu d wrf el 3-

The fat present below the surface of our body acts as a
barrier against one of the following.

(@) IMRIASH DI (b) IRRITHAS B EH
loss of heat from the body loss of salt from the body

() TRRY TS RA (d) ddER  gifRg

Terdf &1 g1 geroial & Jd
Loss of essential fluids from the  Penetration of harmful
body microorganisms from the
atmosphere
24. Rifrcre w3 & % & oA WieiH awwufa &
P U dd H I ALY FP

Physician advise that we should prepare our food in oil
instead of vegetable ghee because:

(@) JAHSNqUAUREIE (b) odH YW qUR gIen
Oil contains unsaturated fats Oil contains saturated fat
(c) O 1Y AMHH B (d) JTTEE

Storage of oil is easy Oil is cheaper

25. &d &9 BT Y8 $RUT 3 §@ & Wiav g1 ara sitary -

The main cause of dental cavities is bacteria inside the

mouth and-
(@) UHFEEFaH (b) FPERIISE P W HUIN
3{d:UdER % T 3(d:FICR
Interstitial of Protein particles Interstitial of carbohydrate
particles
() TAFIRLHGAL (d) g P WY HUN &b g
CRRCRIN CRRSCRIN

Interstitial of fat particles Interstitial of salad particles

26. 3R VAT § WIS g1 ) T gHI?

What will happen if there is a pancreatic defect?
() URAfFIAG TR (b)Y 3R TTHIIA A
CRUl

Digestion will not be right

Insulin and glucagon will not
form
€ VRFHUISEEERRT (d) I §¢ SRR

Blood formation will stop Blood pressure will increase

27. A IRR , T3, B A GG A S ghar 82
In the human body, Appendix is attached to which of the
following structure?
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(@) FeaA (b) &

The large intestine The small intestine/
(c) U™ (d) SHTHRE
The gall bladder

28. 3iftrepizr yifora) & shifaa uerd &1 evTHAT 80% et 8-

Almost 80% living substance of human body is -

The stomach

(@ udH (b) @

Protein fat

(c) ®EieRge d) T ES

Carbohydrate Minerals

29. ﬁaﬁéﬁaﬁﬁﬁqmﬁﬁmwwwﬁmqﬁ
Xedlg?

Which one of the following compounds is not stored in
human body?

(a) TARDIGH (b) THA s
Glycogen Amino acids
(¢ @ (d) CIPIRRIS
Fat Tocopherol

30. HMd WA & T i a1 QTHI=IG: SIfAPRS T9si
ST 8 TP I8 TR P HRATR :
Trans-fat is generally considered to be bad for human
health because it lowers the level of:

(@ HDLPI (b) LDLRT
HDL LDL

(€ CRfEREs &1 @ FHRED
Triglycerides Insulin

31. A4 dd A Ufd-3TRIPR®] 1 1 w182

What is the role of anti-oxidants in human system?

(a) TSR IdUISH (b)) T BEREIC, W aur
AR 1P D
STRAHRT HI b B |

The promote vitamin synthesis.
They prevent excessive

oxidation of carbo-hydrates,
protein and fat.
) TS UADI G YUY (d) TG HIA-UHTG UichaT Dl
HIRIB13M B 521d 31 efaT R 3 ATt S Bt
They protect cells against the WW%I

effects of free-radicals They activate certain genes
which delay the aging process.

32. f wd 4a fmior 3g Fefafes & @ feet
STaLIHdT gielt 82
Which of the following is required for the formation of
bones and teeth?

(@ WfeTmaiRuRlRmA (b)) dig IR BierEH
Sodium and Potassium Iron and Calcium

(c) Jfsad 3R HicrrmH (d) SIRTH R BRHRY

Sodium and Calcium Calcium and Phosphorus

33. AW & oitaq F1d | fbaA i &t IR fAwfRa ga 82

The number of teeth that are developed twice in the
lifetime of human being is:

(@ 4 () 12

) 20 d) 28

34, fgfafEa & @ $19-91 419 <d Faa v <a-fa=a
A UPpc gare?

Which of the following human teeth shows the permanent
tooth arrangement system.

(@) Fdb (b) @i
Inscisor Molar

(c) Ra&d® (d) SFEdUIH
Canine Premolor

35. {9 YRR B 999 T AR 8-

The largest gland of human body is-

(@) UIHY (b) Tpd

Thymus liver

(c) URRIgS @ P

Thyroid Pancreas

36. AMd IR | WG @ sy w® @R
BifeTe :

1)fRraTfet, smaTera & sraet siqdwqy Aifed B 81
2) SR aife-N, Tgult (g3nfE—m) # S siadwgy
Hifrd Bt g1

ST HYAI H I B A1/ TE 8/8?

Consider the following statements concerning the human
body:

1) The bile duct releases its contents into the stomach.

2) The pancreatic duct releases its contents into the

duodenum.
Which of the above statement(s) is/are correct?
(@) Pad1 (b) wHad2
1only 2 only
(c) aHi1dul2 (d) A 1auragE
Both 1 and 2 Neither 1 nor 2

37. frafefRaa & Q o4 Yoa & Gdara & Aee dRare?

Which among the following helps circulation of blood?

(@) femmrarge (b) HHRIEE
Lymphocytes Monocytes

(c) uRsiTge (d) o Wedey
Eritherucytes Blood platelets

38. ﬁ%ﬁ%@ﬁﬁﬁmmwﬁﬁﬁ?me)ﬁmﬁ

Which of the following natural substances contains iron

(Fe)?
(@) FaARIBA (b) e
Chlorophyll Collagen
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(c) hRifed (d) HENIET
Keratin Myoglobin
39, Y& H BT (HbALlc) T ATUA

Frafafee 9 Q fFad ya=q F e avems 82
Measurement of glycosylated haemoglobin (HbA1c) in the
blood is useful for the management of :

(a) adTeTdr (b) SHIfsfem
Anaemia Hemophilia
(c) #YH ) JAAY

Diabetes mellitus High blood pressure

40. FrAE & v # Fafaf@a & @ #9991 sy
W TR 82
Which of the following statements is NOT correct about
haemoglobin?

(a) TG IIHIEIAE (b) TE HHS Y PRI
It is red coloured %@gﬂ%ﬁmwm

It is the carrier of oxygen from
lungs to the cells

() TEPDIARMUEIAE  (d) TEHeichl 4 bl ah
It is slightly acidic WS‘I%\?’WENE—S’@
EEEIRIE]
It carries carbon dioxide away
from the tissues to the lungs

41. FPufRa§d fFa e srieaabg aare?

Which of the following organisms has white blood ?

(@) TouDmar (b) faemaen
Lizard Cockroach
(c) ‘EI?(_'j WcHA (d) H=R
House bug Mosquito

42. ?W%W%mamﬁﬁmﬁwmﬁﬁwﬁm

In which organ of the human body are the lymphocytes

formed?
(@ IHd (b) ST
Liver Bone marrow
(c) RISy (d)y 3URE™
Spleen Pancreas

43. TERRES T

What is triglyceride?

@ T (b) FrEREST

Protein Carbohydrate
(c) adr () TF
Fat Mineral

44. gﬁwﬁqﬁmﬁmﬁﬁ?ﬁﬁaﬂﬁﬁaﬁiﬁ?ﬁ

Why do ventricles have thicker muscular walls than atria?

(a) dfche PiufcarH
T H e gad
I U BT &

Ventricles receive oxygen-rich
blood than atria

(c) Uil fafte ofmi o

I UY HRATUSAT &
Atria have to pump blood into
various organs

45. UVdaisE gt 8-

Antibodies are-
(@) fafos
Lipids
€ N

Protein

46. IFEATE -

Blood is—
(a) U I Hdd
Connective tissue
() adbaHl

a and b both

(b) dfeHem &l fafta ot o

I T HRATUSAT &
Ventricles have to pump blood
into various organs

) dferw gead ugd fafla

3T el UTed Rl §
Ventricles first receives blood
from the various organs

(b) ~gfeReTep 3%

Nucleic Acids

d) PEEEIC

Carbohydrate

(b) TH IUBIT SHdd

Epithelial tissue

d) TTHIDE TN

None of the above

47. U% faarfed dufa A ve a1a® @) Mg fman| 596 59

Y IWId I gsa1 T

80| <ufa A U &1 ¥aa ol As

uToiifed @ 3 &R ®1 0 AMfifea 31 AN A A At

BT I9d 9 A Uliifed, gay

1 B UTsiifeq, 3R R 31

o uTsfifea 81 7 fore ¢ q= #1 vaa i pH-AT 2

A married couple adopted a male child. A few years later,
twin boys were born to them. The blood group of the
couple is AB positive and O negative. The blood group of
the three sons is A positive, B positive and O positive. The
blood group of the adopted son is:

(@) oTisied
O positve
(c) BTUiied

B positive

(b) ATISHca

A positive

(d) IUA TSR &F YR
TR HEl -Tg] off b

Cannot be determined on the
basis of the given data

48. ‘3R.UY. ey 9TH &7 YR 8-

Rh-factor derives its name from-

(@) dHTGS
Bat

) e
Rhino

49. T TG Pt G B -

(b JTEIR

Rhesus Monkey

(d) <&T

Rat

Blood group was discovered by-

(@) TdaersR FAHT o

Alexander fleming

() ffmaeda

William Harvey
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) TSEHrEA d) B ASEIRT

Robert Koch

50. ot W=y @fed & vaa & v A, FPofafea 9 @
P-HT HYT LI 872
With reference to the blood in a normal person, which one
of the following statements is correct?

(a) YA B g, (b) &I B HA AAT BT
RR7sf &1 T &1 gl TRIHT 70% o
8 TR 378 &Y T IR DIRTBIST & TG H Frar
% Yad 1 HH HEAT A © g

Compared to arteries, veins are  Blood cells constitute about 70
less numerous and hold less of percent of the total volume of

Karl Landsteiner

the body's blood at any given the blood

time

) Ad I HIRBIY (d) adH Sl Bt
(S8 3M.) Had afienT AT fSEIY] (Platelets)
T B SR E Y% g B

White blood cells (WBC) are
made by lymph nodes only

51. 3T R T BT P aafad TR U J gHe-IRRa &t

7T @ 3R 39 g~ ¥&d 3ATGIH (Blood transfusion) L]
SEYd USdl B oNuaid § SN ¥ Iudsy
fFrafafaa sRR Tt A {59 e 31, 399 neE & fog
JUGRT Rfdra grRm?
A men whose blood group is not known meets with a
serious accident and needs blood transfusion immediately.
Which one of the blood groups mentioned below is readily
available in the hospital will be safe for transfusion?

(& O,Rh- (b) O, Rh+

(c) AB,Rh- (d) AB,Rh+

The blood has more platelets
than WBC

52. mmﬁ?ﬁﬁwm: aqaaﬁ:‘mwrﬁn%—
The blood glucose level is commonly expressed as—

(@ HgHFmm¥ (b) oy ufd Sefiefiex &
mm of Hg Milligram per decilitre
(c) Hrufa e d (d) IHUAARHA

Parts per million

53. §cU B! Iad BT HHIVI HA aTell YAl el 8-

Arteries supplying blood to the heart are called—
(2) Uarymfar (b) TEHd ymfFET
Carotid arteries Hepatic arteries
(c) wagyHial (d) PUHY ey

Coronary arteries

54. wfae YT e B, S -

An antigen is a substance which—
(a) TRRAUB FHIRAE  (b) grﬁ?éaeﬁﬁmaﬁw
Hdl

Lowers body temperatures

Gram (mg/dl) per litre

Pulmonary arteries

Destroys harmful bacteria

(c) WiiRenda & yafda (d) RYFufdeRs & Fud

AT TR foan ST 3

Triggers the immune system

55. Wfae (Antigen) a8 USTd 8, Si—
Antigen is a substance which-

(a) TGRS SHAUEi®H (b)) fIuTEddr & IR & forg
T FATE UG BIT g

destroys harmful bacteria is used to treat poisoning

() IMRFATBIFADBA (d) UIUUS (Antibody) P
g o & Sie Brar g

stimulates formation of antibody

Is used as an antidote to poison

lowers body-temperature

56. ‘AB' ¥ad gif ara AAfed &) s H-H W ArdfEe Y59
PHETSITaT g, Fih -

A person with ‘AB’ blood group is sometimes called a
universal recipient because of the-

(@) YFIHGRASH @) BT (b) IJFH I AR TS
UGB & (GSiSTEl) BT UM Bl 8
lack of antigen in his blood lack of antibody in his blood

€ IIHIHURTHSAR  (d) SIS AR TS

UfAf> o us <l T 3rHTa SURYA T &
@W % presence of antibodies in his
lack of both antigens and blood

antibodies in his blood

57. T AB Yo aTel Safad fpdl T aufa &1 3ad & IPpar
AR C R L A gl

Blood group AB can accept blood from a person who has

blood group-
(& HHAA (b) HHEB
A Only B Only
(c) WHAB d) %Wt
AB Only Any Group

58. fra uToft & Shager # g &1 faea gl sar 82

Haemoglobin is dissolved in the plasma of-

(@) Hed b)) T

frog fish

(©) HMa (d) Hgam

man earthworm

59. R IR safeTal & Y g T A U ® -
1) At x - 90/60

2) i x - 160/120

3) My -120/80

4) et v - 1407100

fFrafafEa % A feue o g a2

Below are the blood pressure values of four individuals:
1) Mrs. X - 90/60

2) Mr. X - 160/1

3) Mr. Y - 120/8

4)Mrs. Y - 140/100

Which of the following has normal blood pressure?
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(@) SiHdtx () x
Mrs X Mr. (X)
(c) Sty @ Sy
Mrs. (Y) Mr. (Y)

60. WG TFTU & fT #19 A1 Y99 GYg qrdAF gran
@fFada s R) giaTg ?
For human blood transfusion, which blood group is known
as universal donor?

(@) B*NE (b) OB
B* Group O Group
(c) ABNHg (d) AdHe
AB Group A* Group
61. IR 0'8-
Blood group ‘O’ is-
(2) IdRA® TGl (b) WTERE REET

Universal donor Universal recipient

() Had A IR ILE D (d) HId B IWIGE H

Hfderd! &1 gl I ERpCARAREN]
Donor to the persons of only ‘A’ Donor to the persons of only ‘B’
blood group blood group

62. fa TRifve U A Ui FTHEIY &2

Which of the following physiological process is associated
with thrombin?

(a) IS (b) & SHE
Excretion Blood clotting
(€ ¥ @ g
Reproduction Growth
63. BT & IR A g = wR faR #ife -
1) A dig g Bl
2) UE Iad § TR $TaTe® B
3) g ¥ad &1 1 T UG HIar g |
4) T8 O INN & fel UFARe yeH Searg |
FAPYAI A -

Consider the following statements about hemoglobin -
1)It contains iron.

2)It is the carrier of oxygen in the blood.

3)It gives red color to blood.

4)It provides immunity to certain diseases.

These statements include —

(@) 1,2Td4WEIE (b) 1,2Ud3TER7
1, 2 and 4 are true 1, 2 and 3 are true
) 2,3Td4WET (d) 1,3T54TSE

2,3 and 4 are true 1, 3 and 4 are true

64. BHIEIfT A SH-M urg et 82

Which metal is present in haemoglobin?
(@) did (b) IS
Copper Silver

(c) I (d) dr&r

Gold Iron

65. WA IR A AT TP 8 -
The function of haemoglobin in body is-
(@) SHiqeH &1 uRagd (b) SHaTU[3f &1 AY HIAT
Pl Destruction of Bacteria
Transport of Oxygen
(c) ATeYdl B BT d) e D TRl §EEr

Prevention of Anaemia Utilization of Iron

66. TTCT Y& HIOTBTSA (R.B.Cs.) BT T BT 2-

The colour of Red Blood Cells (RBCs) is due to-
(@) HfeA P BRI (b) TARIGA S HRUT
Qutin Chlorophyll
(c) THRHRMAA$ HR (d) EHEraIeE & SR

Hemocyanin Haemoglobin

67. 9IS W TS P ATl A HH 3T 3 Y 4= B
fa -
When the concentration of oxygen in the blood decreases,
the speed of breathing -

(2) BHEISMI S (b) SEORAT
Decreases Increases
(c) URafd gt gt (d) YA HeH g R agdty

Doesn’t change First decreases then increases

68. A ISP BT HTE glaTe -
The work of pace maker is-
(a) e gaIWgIdHDIA (b) g g We &l gHfod
gl FRATS
It slows down the pulse of heart. It adjusts the pulse of heart.
(c) USTAWEATQMIe () IS gadH SR Uarg ol
It increase the pulse of heart. DXl

It accelerates blood flow in the
heart.

69. fwifea & & #9- Y@ & FErAET F Ty
Srepuuity WA HRars?
Which of the following forms an irreversible synthesis with
haemoglobin of blood?

(@) PIeT STE-SHRTgS (b) g AEEeH T

Carbon di-oxide
(c) HETHAISTRIES

Carbon monoxide

Pure Nitrogen gas

(d) P SRB-HTRZS 3R

Carbon di-oxide and mixture of
Helium

70. frafafea & @ o9 a1 a1g ugue SiTRiier &1 e
e fear A Yaa & Sravaifa & ga wrar @2
Which of the following air pollutants gets dissolved in
haemoglobin of the blood more rapidly than oxygen?
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(@ (b) PSR FES
PAN Carbon dioxide

() W HAIFES (d) 3o

Carbon monooxide Ozone

71. Fafafe Yeaiaw & 9 fPaer sua aqw &
TRR ¥ Yo waTe o1 fd & 7o A fpar wmar @
Which of the following radio elements is used to measure
the speed of blood flow in human body?

(a) fSA-HRBRA (b) fSA-maEH

Radio-Phosphorus Radio-lodine

¢ feTr-emRA () fea-ufeam

Radio-Iron Radio-Sodium

72. §Sd 9t YSH fa o & fog e § @ s
S TaRAF § -
Which of the following minerals is necessary to control
heartbeat?

(@) wfeTH (b) TiU®

Sodium Sulphur

(c) ureRmH (d) drer

Potassium Iron

73. Fafafed R AR $ifm
BYA (a) : e VM H & TaT8 APp & g fpewt
BT ITANT fHarSrar g1
PRI (R) : Y9 TP Hrargst Ao g o somalka
Prargs! HU g 81 eadt & vegfiifay smaey #t
o fad TS gt § 3id: Y9 Wi gl A g
i fad T gl &1 U HRP uE W g
Pc:
Consider the following:
Statement (a): Alum is used to stop blood flow from cut
places.
Reason (R) : Blood is a colloidal body containing negatively
charged colloidal particles. The aluminum ions of alum
have high coagulation power, hence the blood gets

coagulated.
Select the correct answer using the codes given below:
Code :
(@) (AR ETTAETU (b) (A) 3R (R) ST,
(R), (a) B! TG RS & WG (R), (A DT HET
Both (A) and (R) are true, and (R) IRSAT TS &

is the correct explanation of (A)
is not a correct explanation of
(A)
© (%A) e, WA R) T (d) (%A) el &, TR (R) Fe
I |
(A) is true, but (R) is false (A) is false, but (R) is true

74. WBCDT §T 9YT RBC BT fA-IT BT B-

Formation of WBC and destruction of RBC takes place in—

(a) ARMBTIRIH (b) wier#H

Both (A) and (R) are true, but (R)

Lymph gland Spleen

(c) Ufpamd (d) IHaH

Pancreas Liver

75. g A @ feas! «ara Iaa SifRiere &Y Fsvme” FeT

AT g ?
Which of the following is referred to as the “Graveyard of
RBC’s” ?

(@ Yod (b) fored

Liver Spleen

(c) SIfRAFST (d) Sifd

Bone Marrow Intestine

76. % 3x & Al A T TAT $OW Y99 ST R &
wifees Yo @ fHe § o fodt wdte ) sud 3R
7 (frw) &1 faar fra famn R smawar g
Scientist of which country have developed an artificial
blood that is a kind of plastic blood which can be given to
any patient without blood group consideration?

(@) JTHT (b) foe

U.S.A. Britain

© = d =

China Norway

77. TS Yo HOMBTE YRSTTAT Felt B-
Red blood corpuscles are formed in—

(@) dpaH () T<H

Liver Kidney

() gg#H d) SIRYFA=TH

Heart Bone Marrow

78. PIORSIA BT AFTHY TR Arafd gial 8-
The abnormal level of cholesterol is related to-

(a) YRGBT HORG AT (b) RRISH BT HSR G o

Hardening of arteries Hardening of veins

(c) T TR A0 (d) THdRRERE

Formation of kidney stone

79.

Liver Cirrhosis

IRR A 4d Yo Hioree Ft srafs A & IufRa
PRSI UTTT A Fgd & -

The presence of excessive amounts of white blood cells in
blood is called in the language of pathology-

(@) TR (b) YT
Anoxia Leukemia
(c) T (d) PR
Anemia Septicemia

80.

@)

YA & I # IR 9 F T=Awor B grrar T
T@dl-

In Thalassemia diseases, the body does not have the ability

to synthesize-
faetifem St (b) B
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Vitamin D Harmone
(c) éﬁlé o (d) SIiE!
Haemoglobin Protein

81. §qU W Us faggdiy @ g1 Frammfe gt € st
G'q\_rﬁﬁ%

Heart beats are caused by an electrical current that
originates in the—

(a) wRTH o (b) IJRH

Brain Blood

(© ®euH (d) TEIFH

Heart Spinal cord

82. HYA (A) : AB BUR T BT i fpdt off wfem o &
IYR & b dT ¢ T fop A Ard it uraei g1

BRI (R) : ABIRR T A S UfdSTATBBIA B
i fd T Fe HT IUGRT T §T HEt IW BT 997

LR

Assertion (A): A person of AB blood group can borrow from
any blood group, that is, they are universal recipients.
Reason (R): AB blood group has both antigens A and B.
Select the correct answer using the code given below:

Code :
(@) AUGRIIUEIEWRR A (b) ATRIAI TSI Q ARRE
CIRSHACEER K A TR fadaT el ®

A and R both are true and R is A and R both are true but R is
the correct explanation of A. not the correct explanation of A.

(€) ATAdEWRRYIG§ d) THTWRIATR

A'is false but R is true. Ais true but R is false

83. 3fUPYT (A)TH YW WP F AT WEWRE
Wadpai gla gl
PR (R) : Yo TG “T-a1” B AT Yo BIRBT A DIy
T 1 giar ud sifee o fareft Yo W & A1y
HEH (Teffe=) el el
PC:
Assertion (A): People of ‘A-B’ blood group are universal
recipients.
Reason (R): Red blood cells of blood group “A-B” do not
have any antigen and hence agglutination does not occur
with any other blood group.
Code :
(@) ANRRIFITGE SRR, (b) ASMRRIA TS, R
A DT TS WBTHR0T § R, A T TG TBIGHRUT gt
A and R both are true and R is %
the correct explanation of A. A and R both are true but R is
not the correct explanation of A.

() ATEIERYRITAAE  (d) Tads, WgRIBI &

Ais true but R is false. Ais false but R is true.

84. T YRR W T HTd HeaT 82

What is the function of blood in the body?

(@) WRIRRASAMRAT (o) A SN S

W% Maintains liquidity
Supplies oxygen in whole body
() U H UEHS ? (d) TSEIH TEHAIRATS

Helps in digestion Helps in standing

85. goUHfPa Fegae?

How many chambers are there in heart?
@ 2 (b) 4
(c) s (d) 8

86. UG Y& B! pH A FT 32

The pH value of human blood is-

(@) 7.3697.42 (b) 8.3698.42
/7.36t07.42 / 8.36 t0 8.42

() 6.36Y6.42 d) TTHIADE T
/6.36t06.42 none of these

87. U9 WX JUP A B ged U e # iHa
fPail IR UsHaT B2
How many times does a healthy adult's heart beat on
average in a minute?

@@ 86 (b) 98
© 72 d) 64

88. TS IRR ® GH o} YfaHur &) ufthar &) wgd 3-

The process of blood purification in human body is called

as:

(2) SHARN™ () TR

Dialysis Haemolysis

) Sigmiy d) WRm

Osmosis Paralysis

89. o BT YTPT 991 | WIS P BIgfa & uRad
# YT A9 91T TS H 8-

The blood clotting enzyme that participates in the
conversion of fibrinogen to fibrin is-

(@) OfR= (b) WIS
Pepsin Maltose

(c) e (d) e
Thrombin Prothrombin

90. Wfery IuTiold SRIHTRIAT TS IUTE BT IR g2

Active acquired immunity is the result of the production

of-
(@) TIEIS (b) IR
Antibody Vaccine
(¢ W\ @ fRdgasTaa
Serum arRy

Infectious Viruses

91. WIFd Iqd P AT BT HRUT % -
The cause of viscosity of human blood is—
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(@) YFHURH (b) TSHT H fawamyy

Proteins in blood Platelets in plasma

) ¥ R aur d) IHfE Tt
Waﬁ@f All of the above

RBC and WBC in blood

92. TSHT § 9T PTG ST -

Percentage of water in plasma is—
(@) 60% (b) 70%
(c) 80% (d) 90%

93. YRR ¥ U # A P9 HhHU A AR &M HIAT 22

Which of the following protects us from infection in the

body?
(@) SR (b) Tsg, ot 4.
RBC WBC
(c) o wIreHl CIGISIER]
Blood plasma Haemoglobin

9. R TE AT FIT@ T AR AU HIF@ T oz @l
Fars & 3% g &1 Fafef@a # ¥ 19 91 39d @i
B qParg?
If father has blood group A and mother has blood group O,
then which one of the following blood group may be found

in their son ?
(@ B (b) AB
(c) © (d) B,AB3YdIO

B, ABorO

95. W4 ¥ad H BIa SIg3TATSS URdgHd gidl g

Carbon dioxide in human blood is carried out in the form
of-

(a) FEMNGAAFEAH  (b) IfSTH BEMHE & FgH
Carbonic acid

) URRHTHIEFERe D
U

Sodium bicarbonate

(d) ?%&mnmaﬁz%w

Potassium bicarbonate Potassium carbonate

96. UMY & Id Iad BN (=Y, S.3) T A BT €,

ITHI .
The diameter of white blood corpuscles in human body is,
about:

(@) 0.007 . (b) 0.7 L

/ 0.007 mm /0.7 mm

(c) 0.07 . (d) 0.0007 foe,

/0.07 mm /0.0007 mm

97. fFufafEaa & @ $19 IR ¥ ufRiys emar el
PIATR?
Which of the following develops immunity in the body?

(a) T<oH (b) TUAEIST

Antigen Antibody

() TIEH (fpuaD) (d) TH

Enzyme Harmones

98. TTH Iqd PHIHRABISN (Red Blood Cells) FT fufor gAY
IR & P um A gare?
Red Blood Cells are formed in which part of our body?

(@ dUpd (b) ®<d

Liver Heart

€ SHfRY-A=T d) &l

Bone Marrow Kidney

99. TP W I U ¥ Yo &1 Ho URATT T 8-
The total volume of blood in a normal adult human being
is-

(@) 5-6qe (b) 347
5-6 litres 3-4 litres

(c) 8-10TeR (d) 10-12 TR
8-10 litres 10-12 litres

100. TS A 70 fHUT YR 19 TR A% & 79 &1 oA
HTAT Bl § TRTUT-
The total amount of blood present in a normal human (70
kg) adult is about-

(@) 6000 frcit (b) 5000 fArcit
6000 ml 5000 ml
(c) 4000 freit (d) 3000 frcit
4000 ml 3000 ml
101. Fofaf@a # ¥ 19 91 399 & HRaT & Iy
Wm (irreversible) m%?

Which one of the following forms an irreversible complex
with haemoglobin of the blood ?

(8) I SIS MHES (b) IS EISH g

Carbon di-oxide Pure Nitrogen gas

(c) B HHISHRIES d) P SifeEE 3R

Carbon-mono-oxide giferay &1 fsgon
A mixture of carbon dioxide and
helium
102. WHERERE § €9 SaPig U A Hew@qyl § R
waRT Y & T ® fora sirar 8-

Haem is the important biological component in the
myoglobin which is used to store :

(a) HIGUR™ T Ao (b) HTOR™T T FaR=
Nitrogen in muscles Chlorine in muscles
() TOIRAIHSRISH  (d) WAGOR™NH FHeA
EIEEICRIES]

Carbon dioxide in muscles
103. fafafaa @fel w faar sifoe -
1) iRy

2) e

Oxygen in muscles
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3 sy

Iuad @iell § ¥ A9 IRR § IRME & dgaa &
e foraat/faat smazawar gidl 8/82

Consider the following minerals —

1)Calcium

2) Iron

3) Sodium

Which of the above mentioned minerals is/are required for
contraction of muscles in the human body?

(8) PId1 (b) Pad23MR3

1 only 2 and 3 only

(c) HIA13MR3 (d) 1,233

1 and 3 only 1,2and3

104. 9 & @ P4 gearaa & Adtd A& R?

1) Sit frgarn
2) o1 U 31T
3)fREd
I AATEE
33 T e &) TeTgaT I L) SR BT TUA DI :
ﬁch of the following are accurate symptoms of heart
attack?
1) Nausea

2) Excessive sweating

3) Headache

4) Severe chest pain

Select the correct answer with the help of the given code:

Code :
@ 1,23 (b) 2,3,4
() 1,3,4 (d 1,2,4

105. 9 U TR 95 gId ST & ) ATHRIGUT IqBT I9

PIGId -

When a person grows old, usually his blood pressure:
(@) WIHIE (b) SEEIT
decreases increases
(c) ITMEEAR (d) SEATIEA T

remains the same keep changing

106. |G HelTs H TS W= Bl -
The pulse in the human wrist beats—
(@) TEIIGAR (b) TIEIHIR
Faster than the heart Slower than the heart
€ SHRRPTWREE™ (d) TIAIWATGIHR
WA PR

At the same rate as the heart

Independently of the heart

107. UP QR TG BT IR IG-91Y fhd-m grare-

Average blood pressure of a healthy person is—
(& 100/50 (b) 120/80
(c) 150/100 (d) 80/100

108. I ASY A A A fPaam I W ST ST g?

The "Pace Maker" is also knows as:

(@) TEUAH (b) ud ey

S. A. Nodes A. V. Nodes

(c) Ra®ided (d) HRS (Chordae) TBEAA
Bundle of His Chordae tendinal

109. U P 3MRTH BT 8?

When does heart take rest?

(@ P (b) WATHE

Never While sleeping

(c) TYSHA b d) O forar Ha g
Between two beats While doing yoga

110. AT FTe?

What is haemoglobin?

(@) NP IR FATISTE (b)) IHERIH U oA aran

EISIEEHE garf

A substance found in leaves of A substance found in bone

the plants marrow

(c) AMAGMHURISH ATl (d) fUegedt BRI d Foaa
garf ClEIREIC]

A substance found in human Secretion excreted from

blood pituitary glands
111. mgmaﬂmmﬁmmﬁﬁaﬁww
STl §?

Arteries supplying blood to the heart are called:
(@) dRICS Yo (b) BURCH YAt
Carotid arteries Hepatic arteries
(c) BRI YT (d) TR g

Coronary arteries

112. ¥H49 Affrss & IR A Fufafed sy ® far

BifoTe :

1) Af&TSP geairta &) frafd @ & forg SwReri 21
2) U8 IR & A & T IR B

i fd 4 pe I I W g

CH

Consider the following statements about human brain:
1)The brain is responsible for controlling the heart rate.
2)It is responsible for the balance of the body.

Select the correct answer from the code given below.
Code :

(@) PIA1GIE (b) FIA2E T

Only 1 is correct Only 2 is correct

€ 13R2¢AITEg @) Td1Ag 2988

1 and 2 both are correct

113. YRR FTAUAE FRRTsare

Body temperature is regulated by

(@) f'§5 (b) DIGtans

Medulla Thalamus

Pulmonary arteries

Neither 1 nor 2 is correct
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) TRUNAHY (d) WaeH

Hypothalamus Cerebellum/mesjsyesuece

114. TSI BT P YT IR F T 3R IAgaT i

T REAT8?
Which part of the brain maintains posture and equilibrium
of the body?

(@) SHU-ARTH (b) TH-ARTH

Fore-brain Mild-brain

(c) UY-HRRIH (d) Jeaigs

Hind-brain Spiral cord

115. fufafaa &3 @19 v ufaad frar a€1 @2

Which of the following is not a reflex action?

(@ 4™ (b) BEUY
Breathing Heart-pumping
(c) dWR (d) ©BrIPI %aq
Salivation Movement of hand

116. Frafafaa g & 3 w9 wrwd gafa 22
(FerfereaT &t =@ - (|14 3T
Which of the following pairs is correctly matched?
(branch of medicine) - (human organs)

(a) PISAEe - 4q9dd  (b) IR - TATH

Cardiology - Respiratory system Gastroenterology - Urine
System

(¢ TQrST - A ad (d) “QR@ren - dEeTaA

Urology - Digestive system Neurology - Nervous system

117. af&rss Rl 2-
The brain is responsible for:
(a) T & fom (b) Teg TR FAgur & ferg
Thinking Regulating the heartbeat

) IRR P I & g (d) Sudad dHi & forg

Balancing the body All of the above three

118. TRKISH qUT A% I R 91 f3reelt o gor om 9= &
A aren AT R-

Disease caused by inflammation in the membranes on the
brain and spinal cord is -

(@) g ) RfRE
leukemia paralysis
) WheRIRY (d) AfeTEfed
Sclerosis Meningitis

119. $350. F R o1 3 Sri-yomeh ywe A 2, T8 d-

E.E.G. shows the function of-

(a) B (b) HRTH
heart brain
() M (@) TPd
ear liver

120. URGGr Td WRT & $5 99 AT & Fafafea d
 forg ur o srafRia 32
Which of the following parts of the human brain satiety
and thirst centre are located?

(a) oM ARTSS H O IRELEE!
Fore-brain Hypothalamus

ORRE L (d) 3fifed T H
Medulla Optic lobe

121. WP ¥ (Spinal cord) 7 9 fpat Trﬁ'%{ff GIECT]
RETSCIGH

How many pairs of nerves arise from the spinal cord?

(@ 13 (b) 31
(c) 33 (d) 12
122. vfaadf forarsit (Reflex Action) BT =0T v el W

&
Where is the control centre of reflex action? Cerebrum?

(@) TR H (b) AR H

Cerebrum Cerebellum

(c) FIFTDHISH (d) dEFTRRGH

Spinal cord Nerve cell

123. ¥4 & AT A TR &A1 Hal il 82

In @ human brain memory power is found in:

(a) ST MTARTIET (b) IsH

Medulla oblongata Cerebrum

(c) SA®BaC (d) IRkdTH

Brain cavity Cerebellum

124. W49 & AfeTss &1 Ffifaa # ¥ -9 YR IRR &
s H & Ao § yfiret fArumar 82

Which of the following part of the human brain plays a role
to control the body temperature?

(a) SFARTSH (b) e
Cerebellum Hippocampus
© HYIddH (FRUATHY)  (d) HSY HTsAIeT

Hypothalamus

125. 3 g W Fafaf@a o & #19 w1 3¢ uegy e
BN
Which one of the following organs will not feel any pain on
being pricked by a needle?

Medulla oblongata

(@) oadr (b) AikTss
Skin Brain

(¢ ®&TH (d =
Heart Eye

126. UMG 9@ & & 4 FW&HAa 9 $3 ) AR
Fifog

1) W_ﬁwﬁ(m)$trmwmqfﬁﬁu
A A IO AT |
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2) SrA-wrge | freafd g9 oy Al & orar @
ET SATIHTT TehIo BT YARTARNYUT BT & aUT gap i
RART A Yo & U Ao AT a8

FFUN F A H-a/A G B/

Consider the following statements related to the function
of human kidney:

1) After excretion (reduction) in the kidney, clean blood
returns through the renal artery.

2) The fluid filtered from Bowman's capsule passes through
small tubules where most of the glucose is reabsorbed and
returned to the blood in the renal vein.

Which of these statements is/are correct?

(@) Had1 (b) Had2
Only 1 Only 2

() 17YT2g ! (d dg1A%2
Both 1 and 2 Neither 1 nor 2

127. UGS A 9994 arelt vty o+ gt 2
Which amongst the following is responsible for the
formation of stone in the human kidney?

(a) hicREH 3ffaiae o (b) WfsTA TR HI
Calcium oxalate Sodium acetate

) TARTH ghe o d) HfREHAD

Magnesium sulfate Calcium
128. THN IR ¥ @1 dd & - fagme qar Fafafaa &
favs ST BT BT FRA B -
In our body fat present beneath our skin acts as a barrier
against-
(@) TRRBISH B> (b) 3HTIRTD IRR ST BT
Decrease of body heat &

Decrease of essential body fluids
€ IRR& dauli &1 & (d) dTdTERY ¥ BIH®BR
GEASII] BT Fa=T
Entrance of harmful
microorganisms from the
atmosphere

129. fufafEa # @ $i9 aFa 18 o1 am o 78 82

Which of the following is not the normal function of the

human kidney?
(2) o H S Bl A BT (b) mﬁm&ma"rwm

Decrease of body salts

IBREWI IERELI
Regulation of water in the blood Regulation of sugar level in the
blood
€ IRAPBAIREER  (d) DS eHM HIHau
DT HATI

Filter out urea Secretion of several hormones

130. GIVgE g9 dd Afeddl & T srdiga &1 IuanT
frarwmar 8, R Fifta wea 2 -
Dialysis is used for people with defective kidney, the
inherent process is -

(@) Sffr=iyo (b) TR

Adsorption osmosis
(c) 33?1?@01 ERE] (d) feha T

electrification circulation

131. SHORNFTIEY YA A fPTmTHITAL?

'Dialysis' is related to?

active movement

(@ =™ (b) qab
Heart Kidney

(c) dPd (d) PUpy
Liver Lungs

132. 3MiEg® e S GHUEGT g U gt e, 98 8-

The dialyzer is used for the work of-

(@) ®d (b) Ja
Heart Kidney
(© FPd d) B
Liver Lungs

133. 999 Q A 91 A ST AR fEfa e g grifa-

Which hormone controls the disposal of urine from the

kidney by-
(a) TSHGRI (b) ACTH gRIT
TSH ACTH
(c) FSHGRT (d) ADHERI
FSH ADH

134. g forad gRTYed @ gys fhar Sian g -

Where is urea separated from the blood?

o

(@ 3id (b)y SHHRIE
Intestine Stomach
(c) wher (d) Taf
Spleen Kidney

135. IR A TRANMwead R afmsfmdd
fra T 3 & Ba g o ¥ |if$a g9 # Gy
T 8-
If albumin is coming out in the urine, then there is a
possibility of failing which of the following organs of such a

person-
(@) FPd (b) qI
liver kidney
€ =®d (d) il
heart spleen

136. 19 P BT BT d¢ B &a ¢ al 7 A i a1 uerd
STHT g 8?
When kidneys fail to function, there is accumulation of-
(a) IRRATH (b) IRRAUH
Fats in the body Proteins in the body
() THHIH (d) & TS SHURE
Sugar in the blood arf
Nitrogenous waste products in
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the blood

137. 9o A ufa fie sivra ved varg BT -

The average blood flow through kidneys per minute is-

(@) 1000 T3 (b) 1200 3.
1000 C.C. 1200 C.C.

(c) 200 T (d) 500 T
200 C.C. 500 C.C.

138. WIFd $T Y- TAS IIoI SIS &

The primary nitrogen produce in human is-

(@) St () T 3
Ammonia Uric acid

(c) A d g
Guanine Urea

139. WGl # ¢ fFafafad # & fa yonedt & s g2

The kidneys in human beings are a part of system for-

(@) ~IGRH (b) gFEUICRH

nutrition transportation

c) UaHHIRH (d) EREE

excretion respiration

140. HYA (A) : 333‘7133 (Diabetes insipidus) are Afed &Y

WI: ST STl B |
PO (R) : SGHHE ATl AT AU & SHfer=ra |1
QYU TEar gl
Te:
Assertion (A): A person with diabetes insipidus often feels
thirsty.

Reason (R): A person suffering from dysuria suffers from
excessive secretion of vasopressin.

Code :
(@) ASRRTHITEIS 3R, (b) AMRRIAIAE, Al
A ST I8! WETHRT 7 R, A el RS Tt &

Both A and R are true, and R is Both A and R are true, but R is
the correct explanation of A not the correct explanation of A
€ AUSIE RIRITAAE (d) ATAdS RJrRILT

Ais true, but R is false A'is false, but R is true

141. 5 Uy & <Y 999 §, TS F1 HYT (A) TUT gL B
PRI (R) HT TG 8| 31 11 ol &1 JIauT-yded
%ﬂj&%mwuamwﬁﬁqnﬁwaﬁm
;‘«‘H (A}:%ﬁﬁﬁﬁwﬁmww

|
PRI (R) : TehIgd P U0 ¥ IRKR A I9IRME &1
"G 9 AT 8|l

In the following question there are two statements, one is
called Assertion (A) and the other is called Reason (R).
Examine these two statements carefully and choose the

answer to this question with the help of the code given
below—
Assertion (A): Drinking whiskey increases the frequency of
urination.
Reason (R): Ingestion of alcohol increases the secretion of
vasopressin in the body.
Code :
@@ ASIRRIMINT ARR, (b) ASRRANIEE, R
A T 6] THIHRT g R, A BT TG BT Tg
Both A and R are true, and R is %
the correct explanation of A Both A and R are true, but R is
not the correct explanation of A

() ATEIE, WIRTAIE (d) ATAdE WRIGIE

A'is true, but R is false A'is false, but R is true

142. 98 <9, S HIFE O & Aremw @ SaRfa e e, @

The mineral released with human Sweat is-

(@) Tu® (b) e

sulfur iron

(c) S d) SHFAAIDE

Zinc qﬁﬁﬂ%ﬁ@{wﬁ
3P

None of the above / More than
one of the above

143. TR ST START_-

The main use of sweat is:

(@) RETIUFIIT™T (b) IRRH A B AET
o Fgford v@ o

To maintain body temperature to maintan water in body

© WRFAvTEFET (d) I BEIATTNR
o T

To keep the dirt away from the
pores of the skin

144. N YHY TP IUATH 3@ BT HalfUe YHTT IR &

to release body's toxins

P TR ST e?
Which part of the body get effect most by fasting for a long
time?

(@ TAIW () SAAWR

heart intestine

(© BHIW @ TEW

lung kidney

145. Ueplgiad & fRifavq & fore fufafad aea o #

B ITREA 32

Which of the following human organs is responsible for
detoxification of alcohol?

(@ IPd (b) PUpH
Liver Lungs

(c) B (d) qop
Heart Kidney

MOB. :- 9929952283

WEBSITE :- www.prepebooks.com

Page 31




PREP-E-BOOKS

146. ?Wnﬁwwﬁﬂﬁﬁaﬁ@amﬁmm

A healthy human being excretes the following litres of
urine in 24 hours—

(@ 15T (b) 3.0TX
/ 1.5 liter /3.0 liter
(c) 6.0TR (d) 9.0TxR
/ 6.0 liter /9.0 liter

147. A9 IR & g Gxafa i @

Urea is synthesized by human body in-

(@) IPaH (b) TIHH
liver kidney
© TREH ) wherH
bladder spleen

148. wAUTRG & o g1 8-

Respiration in mammals occurs in —

(2) FAHGRI (b) YNGR
Tracheae Respiratory tract

(c) EIERI (d) PHPH (GBS GRI
Skin Lung

149. RIS I IUFRUfA A TP F BT STZ-AHTRIZS
Td od § SHolt (Had g1 & a1 gul =uraor g9 &t
The complete conversion of glucose, in the presence of
oxygen, into carbon dioxide and water with release of
energy is called—

(a) AT Y& (b) SEATdT 8=
Aerobic respiration Anaerobic respiration
(c) TeEHIRY (d) Sd-3fuge
Glycolysis Hydrolysis

150. 4 & ol ST gieh 8-

During respiration energy is produced in the form of-

(@) TSR FEUH (b) TAR FEUH

A.D.P. A.T.P.

) TTIH FwuH (d) co, FEIH

N.A.D.P. o,

151.  yo=-ufkarfafy # Fafafea & ¥ e 9 &) arsar
wyafd auT I=gfia arg # srufvafda wedt 82

The concentration of which of the following gases remains
unchanged in the process of inhale and exhale in the
respiratory process?

@ N (b) cCO,

) O, (d) S HAI PS8l

None of the above

152. FaT® avd §U 41T Y&H HUN BT ATHR el 8:

The size of the Respirable Suspended Particulate Matter
[R.S.P.M] in airis :

(@) 7HRHAY IS (b) 6HRZHA Y AP

more than 7 micron more than 6 micron

(c) 5HRHAY AP (d) S5HARHHIIHH

more than 5 micron less than 5 micron

153. W 9HY dF HOR ARING $r & g IR

YPprae Pt gYfA fFa RO BN 32
The sensation of fatigue in the muscles after prolonged
strenuous physical work is caused by:

(a) SHifior Pt amyfd o (b) RN agsli A BIE-A

A decrease in the supply of

EZdll [t

minor wear and tear of muscles

oxygen fibres

(©

the depletion of glucose

oIS Bt &fUTeT d) dfFesd 3P 3bgIg
& HRT

the accumulation of lactic acid

154. TRR ¥ 4T 3ryar WM H ugan T (@) Wy & fie
TNeRS g1 Idia # W &1 vy ufaafd g1 &
e 9 3T WA B fuTeaar Iad w1 a1 Hid Bi-
AT
1) TE SpTal
2)U9 (@aH) 3R IR
3) U=
4) BT A T AT ArARRT
Frafafad $ei & smyR W Ig W gHe:
Lead entering the body through inhalation or food is
harmful to health. Since the use of lead in petrol has been
banned, what are the sources causing lead poisoning?
1) Smelting units
2) Pens and pencils
3) paint
4)Hair oil and cosmetics
Select the correct answer based on the following codes:
(8) PadL,23MR3 (b) FaT13MR3
1,2 and 3 only 1and 3 only
(c) ®ad23iRa d) 1,2,33R4
2 and 4 only 1,2,3and 4 only
155. WTF9 IR A STRfe &1 SR gar g -
1)35d & GRT
2) PRpH & GRT
3) Hd® & gRI
AT HTHE ATHHE -
Oxygen reaches the human body —
1) Through blood
2) Through the lungs
3) Through tissue
The correct sequence of acquisition is —
(@ 1,23 (b) 3,1,2
() 2,1,3 (d 1,32
156. ATHd IR & aifie yegRdaT & YT @ 9Tl aed 8-

The most abundant element found in the human body is—
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(@) W% () fsgw
Iron Sodium
ORIESISE] @) MmN
Oxygen lodine
157. fofaf@a & @ #9 I STEU=R0 A9 IWR H
3 ad el UeTH HRa1 82

Which one of the following biotransformations provides
maximum energy to the human body?

(@) ADP-> AMP (b) ATP > ADP
(c) ADP->ATP (d) AMP = ADP

158. AT & B3I (Lungs) A fpamt UTTT (@US) UTT &Td &2
Human Lungs are divided into how many parts?
@ 2 (b) 3
() 4 (d 5

159. HFd IR $T HH-TT YR IR 919 &1 Frifia w@ar e

Which part of the human body controls body

temperature:
(@) Tl (b) ST
heart Lungs
() Tpd (d) dqap
liver kidney

160. T YUT $T §ST $ TG B AT 32

When does the Heartbeat of a human fetus starts?

(@) SO uRadT Huyd (b) 3= aRTT & e
I § g #

In the first week of its in the third week of its

development development

) S uRad & agd (d) ST URIITF &S
I § g #

in the fourth week of its In the sixth week of its

development development

161. HYT (A) : AFG B Ham & T FAuRor (sex
Determination) ﬁ%m‘raﬁugﬁ W'&ﬁ?ﬁ%l
PRI (R) : Al A S x TOREA T B
PC:
Assertion (A): Women play a major role in sex
determination of children in humans.
Reason (R) : Women have two 'X' chromosomes.
Code :
@) ASIRRIATEE ARR, (b) ARRANEEE, R
A DT TS WBTHR0T § R, A T TG WSROI g
Both A and R are true, and R is %
the correct explanation of A Both A and R are true, but R is
not the correct explanation of A

(€) AWEIE, WIRITAIE  (d) ATCAG, RIRITIQ

Ais true, but R is false Ais false, but R is true

162. HFdH IRR & Fafafaa ur § & fora ua o 3oy,
S o R swar e

In human being, normaly in which one of the following
parts, does a sperm fertilize the ovum?

(@) TMR™ IR (b) fErarfeh Tef
Cervix Fallopian tube

(c) TTHIRM &1 fA=rar HFT (d) THIRE FHTHTL yIT

Lower part of uterus

163. A== (Fertilization) ®1 fopar ﬁ'\ftﬂ' m %?

Where does the process of fertilization take place?

Upper part of uterus

(@ THREH (b) SiSafg#H
Uterus Oviduct
CEEERE (d) JfFEREHE
Ovar(y Vagina

164. A # A F9-971Ugd FFrad wiwdr &1 v HATe?

Which one of the following first breaks the order?

(2) Ffa st (b) TRgam
Fertilized egg Gestula
() wIRge (d) CﬁSﬂ
blastula feeds

165. fFufafaa & ¥ 19 a1 @qur aFq A & gaifus
HET § 9T ST|r %? Which one of the following salts is
found in maximum amount in the human bones?

(a) HERH R EE] (b) HITH Brafe
Magnesium Chloride Calcium Carbonate
(c) HicauH Bidhe d) OfsTrFarEs

Calcium Phosphate Sodium Chloride

166. U P TIUSH & fpat arfRmi it &2
How many bones are there in human skull?
(a 28 (b) 30
(c) 32 (d) 34

167. TIAF IR AW B 53 -

In human body, leg bone is?

(@) TRIHBNT (b) TR
Hollow Porous

€ OoNHEd? d) Flas e
Solid Rivet

168. UG HHIA | 3 aP JId GreSUl B IBAT 8-
The number of bones known till date in human body is:
(@) 280 (b) 200
() 220 (d) 206

169. 20 a¥ F} Mg # wE XK F gAY A HEw A 2

SITHIT - The approximate number of bones in human body
at the age of 20 years—

(@ 100 (b) 206
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(c) 300 () SR HAIDE T

none of the above

170. g1 (B3 P GEh-n () F 1Y GAf Ffw iR
it & i 33 T e &1 v B 9 SR ga-
T @S T ()
A. SURY - 1. FAfd®d
B. 9IIP - 2.qedl
C.Aba® - 3. %hgdl
D. ThY BAD - 4. AT
PC:
Match List-l (Bone) with List-Il (Name) and select the
correct answer using the codes given below the lists-

List-1 (Bone) List-1l (Name)

A. Sternum - 1. Clavicle

B.Patella - 2.Patella

C.Scapula - 3.Scapula

D. Shoulder blade - 4. Sternum

Code :
(@) ABCD4132 (b) ABCD1432
() ABCD1423 (d ABCD4123

171. A9 IR $t Hib13 § YA 94 10 0T G SISt

(Chromosomes Pairs) Cakere| %—

Chromosomes pair present in single human cell are—
(@ 21 by 22
(c) 23 (d) 24

172. fafafaa % @S9 uma I 9 9 B e 82

Which of the following is the smallest bone in the human

body?
(@ TR (b) U
vomer stapes
(c) Aferarg d) B
Malleus Incus

173. UI® & IRR & gAferd & fha- oS gia 82
How many pairs of ribs are there in human body?
(@ 12 (b) 10
(c) 14 d 11

174. TOBAFTHA TN E -

An adult human has-

(8) 204 3MfRTT (b) 206 3MfRT
204 Bones 206 bones
(c) 208 3T (d) 210 3ffRET
208 bones 210 bones

175. HE TR A BIAR gad ol g3t 8-
1) AT9-INR § IE-ARRY (Femur) TG it SRR B
2)%\“!|T(Cholera) mm%mm%l
%)‘t{ﬂ?ﬁf P (Athelete's foot) AT ﬁ'EITf{[ * 1K 'Eﬁ?ﬂ
|

IR HY A | P-4 TG 82

Femur is the longest bone in the human body.

1) Femur is the longest bone in the human body.
2)Cholera disease is caused by bacteria.

3) 'Athlete’s foot' disease is caused by virus.
Which of the above statements are correct?

(@) 132 (b) 2933
land?2 2and3
(c) 133 (d) 1,23R3
land3 1,2and3

176. Fafafa ¥ 3 frw ve ) Safy, apa srad 82

Which one of the following does the liver produce?

() TIEU (b) g

Lipase Urea

(© T d @ 3_@; FAIN® 3
Mucus Hydrochloric acid

177. R F H9 ym A U &1 A gare:

Bile is produced in which part of the body?

(@ IPa (b) foreedt
Liver Spleen
) form=me e (d) 3rERY
Gallbladder Pancreas

178. M A A R 1 dwa fPad ga &2

Bile is stored in which of the following organ?

(@) Tllgr (b) 3™
Spleen Pancreas

(©) e (d) o
Appendix Gallbladder

179. CAard &1 fmfor frad gar e

Antibodies are found in :

(a) Wedcay (b) T BRRIY
Platelets RBC

() ey d) 3z
Lymphocytes Eosinophils

180. A I BT 3-
Which of the following is correct?
() MRAIRIIGfFeNF (b) IR A IRIG [bst &b
Hreaw § firet ST 8 HTeOT & oRAT &

All the blood in the body is All the blood in the body passes
absorbed through the kidneys through the kidneys

() MRAIRIIGAfFeNF (d) IR A IRIG [bst o
e A Y Aare A A AR

All the blood in the body is All the blood in the body is made
filtered through the kidneys through the kidneys

181. WY &1 Gial T TH quis & SR giar 8, Ford
Cankd

The yellow color of the human urine is due to which
pigment-
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(@) WEcIHH

Cytochrome

() BH®m

Hemochrome

(b) bW

Urochrome
(d) BieE

Phenylchrome

182. ¥ [ Oiffe &1 W 3iT vHe & & # ST

AT 82
Which of these compound is known as the ™ starch of
animals ''?

(@) Igd (b) QW

cellulose arebinose

(c) uAFIuRrS (d) TeEDIoH

amino acid glycogen

183. US aAfaw, Wil biHa® e =gRar T yuifaa g, g d

ifsa grar 8-

A person who is affected by phenylketonuria disease

suffers from-

(a) g BT hABHT
Kidney Failure
(c) ARy Srgar

mental inertia

(b) TS PTG

liver Failure

(d) TYHEH

impotence

184. TTH b STeT 3TUC A Teb el ST aTel TS H &-

Enzyme involved in the hydrolysis of starch to glucose is—

(a) A

Invertase

) SRESIfH

Dehydrogenase

(b) THES

Amylase

d) SRIsSW

Anhydrase

185. TUR YRR AU EIATR-

The blood pressure in our body is -

(a) IPHSA G A HH

less than atmospheric pressure

(c) dgHSHUT GId & SRISR

equal to atmospheric pressure

(b) dIHSATEE ¥ S

More than atmospheric pressure

d) SHEHAIDIS TS

None of the above

186. {4 YRR T ATHRI YA glaT @

The normal temperature of the human body is-

(@) 99.6¢9F
(c) 98.6¢F

187. AFT IR ABIATE-

Human body contains-
(@) TTHI 70% UL
about 70% water
(c) 10%-20% UTt
10%-20% water

(b) 97.4¢°F
(d) 95.6°F

(b)  20%-30% UTT
20%-30% water
(d)  30%-40% UTI
30%-40% water

188. TP IMRA HFG IRR $1 [ sawmen v far

Hifoe—
1) gU ARSI Ia

2) A1 & g ST

3) Wfa @y

4) IS pT YT

79 T PIH-T AIDS P AT &2
Consider the following conditions of a diseased human
body:

1) Swollen lymph nodes

2) Night sweats

3)Memory loss

4)Weight loss

Which of these are symptoms of AIDS?

(@) 132 (b) 2,334
land?2 2,3and 4
) 1,233 d) 1,2,33R4
1,2and3 1,2,3and 4

189. Ue (YAl IRR & 3T TAND 3N & &0 & g
Ugad T‘ﬁ)_"ﬁﬁ, Q@'\‘aﬁ'tﬁ, 3muTia %— Endoscopy, a

technique used to explore the stomach or other inner parts
of the body is based on the phenomenon of:

(@) qof siiaRe wrad= (b) SafAHR IR IR
URYSH IR interference
total internal reflection

(c) faaduREeTTwR (d) YduruREe R

diffraction polarisation

190. UEHI-fHIRATH WAL, &t -

Alpha-keratin is a protein, present in:

(a) Y8 IURGE (b) wETHIuRAE
present in blood present in the skin
€) Sa®HIURTR ) 3USiHIURGR

present in tissue

191. o9 {99 39 A iTRASH F A1 & HH gl 8, b
4aq @t Tfd - When there is a decrease in the
concentration of oxygen in the blood, the rate of

present in eggs

breathing:
(@) FHFNE OBGEREIRE
Decreases Increases
¢ UBATedd RGN (d) uRaiaTedde

Does not change First decreases, then increases

192. W4 Ak ¥ Fufaf@a ymf & @ 19 91 e
R 3R Sadt BT T F @2

Which one of the following parts of the human brain is the
regulating centre for swallowing and vomiting?

(@) SARTH (b) YARETH
Cerebellum Cerebrum
(c) g Tseriler @ o=
Medulla oblongata Pons

193. 3 AIEHT BT A1 T § S SATHIRTT AT &S | TP
| ﬁm T Al 82 What is the name of the vessel
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that delivers the nutrient rich blood from the stomach &
small intestine to the liver ?

(a) SRSl yu (b) T RRT
Left hepatic artery Hepatic vein
(c) o Tl Y-t (d) TP UIER RRT

Right hepatic artery

194. g™ ¥ el & i@ ¥ i@ § 3 999 e
YT T IUGRT fabaT STan 82
In eye donation, which one of the following parts of
donor’s eye is utilised ?

Hepatic portal vein

(@) Smeig (b) T
Iris Lens

() Il d) fe
Cornea Retina

195. U Frar uri fF & fpaei o fradt @2

How much Calorie is obtained by drinking a glass of

water?
(@ o (b) 15
() 25 (d) 50
196. W & N ¥ ¥ o U@ FGRS fafeon I
Taifires guuTe 32

Which one of the following human organs is most
susceptible to harmful radiations ?

(92

(a) °f@ (b) =™
Eyes Heart

) uw d) Tws
Brain Lungs

197. U & 3N § 9, gioR® fafewonl & 9@ &9
FUHTT 31T 8 - The part of human body which get least
affected by harmful radiation is

(@) 3fid b) wR
Intestine Brain

(c) sl d) &
Lungs Heart

198. 3T @1 ¥eAT Y o uRuR® W F FHufafaa o
3 g 4T @ T 51 Bl @2

Retina of the eye is comparable to which of the following
parts of a traditional camera ?

(@) & (b) o
Film Lens

(c) VR (d) TR
Shutter Cover

199. WY Yd H a8 F1 8 ol gHT NSl H W= Fear @2
What is in the domestic dust that irritate the asthma
patient?

(@) WA, SMY@AfammE (b)) YA T BEHDG B
fﬁ Organic particles in dust
Chemicals that are present in

dust
© Yy =t (d) Yool TH

Dust barrow Dust Moisture

200. TGT 999 U4 § UgTA & UYT WG 1Y UL
e erar gRfEE wad &
After reaching the female genital tract, human sperms
retain their fertilizing capacity for:

() alffewfu (b) sfFe® o
two minutes twenty minutes
() T=fFesfom (d) TsTafeis g

ninety minutes one to two days

201. UP qUP A4 IRR A oI Ufer=rd gidT @ eTHT-

The percentage of water in an adult human body is
approximate—

(@) 10% (b) 30%
) 66% d) 75%

202. TUR IR A gl auT &RPar & o & 9
'\‘i’gﬁﬁ' dq1E ¥™dT %, dg% %— In our body element that

maintains balance between acidicity and basicity is —

(a) BRBRY (b) wfETH
Phosphorus Sodium
) urRRry d) Sy
Potassium Calcium

203. ¥t avg &1 ufafara agsy #t s & HeTaaT 32

Where is the image of an object made in the human eye?

(a) Il (b) smeRa
Cornea Iris

(©) W ) Xfem
Pupil Retina

204. IAfRUY W d W AT IRR ST JH ATYHTE SHTI-

The normal body temperature on the celsius scale will be:
(@ 31°c (b) 98.4°C
(c) 36.9°C (d) 31.5°C

205. UIW & IRR T AW ATIHH & -
The normal temperature of the human body is-

(@ 37°C (b) 98°C
(©) 367K (d) SugwH IS TE

None of the above

206. HATFT YRR BT AT ATIHH 98.4°F B | $HP aRTER °C
o arqseH % — The normal temperature of human body is
98.6°F F. The temperature in °C equal to -

(@) 40.16 (b) 36.89
(c) 3572 (d) 3236

207. W4 YRR BT dTIHH-

The temperature of the human body:-
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(@) SrSiHueSargl (b) TG HaESag

Decreases in winters Increases in summers

€ ANIEAFTCAZAR (d) SIHIGSaIg!
Fg g deare

Neither decreases in winters nor

increases in summers

208. Upd Td HIHAREG) § Serf ST B B-

Energy is stored in liver and muscles-
(@) FERIESE P FUH (b) THHEUH
in the form of carbohydrates in the form of fat
) UHFEIH (d) TARHOH b TUH

in the form of protein

Increases in winters

in the form of glycogen

209. TH HOR URYT P a4 [IY Bl P Sl Bt

STIRIHAT gIdl 8

Daily energy required by a hard working man is:
(@) 3000 fPaIpaR (b) 2700 fPaipaR
3000 kilocalorie 2700 kilocalorie
) 4000 fPaIpaR (d) 6000 fPaIpaR

4000 kilocalories 6000 kilocalorie

210.  Trerel 9 I it goraR B St AT A A AaT §,
e FRUT A Ta, finlf, I gt St 81 s
O THG UYT IAP A & A § | THPT BRI 8-
By mistake Ramu injects an injection in excess, which
causes cramps, epilepsy,fainting. He eventually dies after
some time, the reason for this:

(2) o H GTHT YR (b) & H B THT

Abnormal glucose High glucose concentrations in
concentrations in the blood the blood

() ad ¥ TARHIH BT (d) o H BicRTH ST BT
3T 3T

Lack of glycogen in blood Absence of calcium ions in the

blood

211. gh%%muﬁwgﬁm%ﬂﬁuﬂaﬁﬁﬁ?ﬁ

Whose function is to change focal distance of eye lens.

(2) Ykt (b) fe
pupil retina
¢ Riferast aiwo=h ) SmRy
Ciliary muscle Iris

212. 9 iTEl & forg Ty =P ot =gaw gff et gt

%? What is the minimum distance of clear vision for normal

eye?
(@ 1087 (b) 15T
10 cm 15cm
(c) 203 (d) 253
20 cm 25cm

213. Wifauifa=< gRT AM9 A9 &1 Fufafea § 9 s=-ar

YT gHTfaa giar 82
Which of the following part of eye gets affected by
cataract.
(a) ufRaie (b) fes
Iris Retina
(c) W AUSd (d) IREIHI B T8l
Cornea None of these

214, Fufafea d @ Fadt g srufufa @ saviwar
erf‘urvr&rfﬁra m %? The Complete absence of which of

the following shows Albinism?

(@) HeHE (b) Ve
Melanin albumin
(c) loRRIA @ fefersfem
Cholesterol Bilirubin

215, Fufaf@a sy R AR st -
BY (a) : AN THY FId YHTN SATS-IG gl B |
PRI (R) : T TP & IRR & AATCIA FT It
P gaT g

1 3T T e BT IUGNT T 30T IR Sferg |

PC:

Consider the following statements —

Statement (a): Bright light is undesirable at the time of

sleeping.

Reason (R): Melatonin is produced more in the body in

bright light.

Give your answer using the code given below.

Code :
(@ (ATUTRTHTGITAR (b)  (A)TUT(R) QI TG &

(A) BT B! TFHT (R) § ﬁ(;\)mwm
(A) and (R) both are true and (R) 7"%3[

is the correct explanation of (A)  (A) and (R) both are true but (R)
is not the correct explanation of
(A).

©) %A)W%M(mm (d) g)w%ﬁﬁm)w

(A) is true but (R) is false. (A) is false but (R) is true.

216. A4 IR ¥ Afrpan AT & UraT 91 1T 9<a gl

%— The element found in maximum quantity in the human

body is -
(2) el (b) fETH
Iron Sodium
) WRBRY (d) dfRm
Phosphorus Calcium

217. THRN IR &1 3RS aH HR ST 8-

Maximum weight of our body is made up of.

(@) SfREiH (b) RN i1
Bones Body Organs

(c) OO ANURMTS ST (d) SIAHI
Skin,Muscles and organ Water
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ANSWER KEY

(7]

c

O C OV A cCvoogloualn

(7]

%12345678901234567

olo|lo|lo|o|0|l0o|C|O|d| H|ldH|H| dH|ldHA| |«

QZZZZZZZZZZZZZZZZZ

c

< OO0V oo gc<oln
(7]
m1234567890123456789012345678901234567890
O OVVIVWWVWWVVOIVOIOINRININININININININ|N|O|0|0|(0|N|0|0|(V NV BV DDA NO
Q1_1_1_11111.1.1.1.1_1_1_11_1.1.1.1.1_1_1_1_1.1.1.1.1_1_1_1_1_1.1.1.1.1_1_2
c

AN RRO AN .. NG RN ISR A= QN -- RN QN RN - R =l a RN JNalN.- AR« NSNS ANS N aRE - N E- SR - 4dE-dNaJX-4N--FE-dNaRialN-.JNC ARG AN.. RN a N-- RN O]
(7]
m1234567890123456789012345678901234567890
NINNANNNANANANOO O O O NN N NN T T ( @) (T[T (D LD DN WO
Q1_1_1_11111_1_1_1_1_1_1_1_1_1_1_1_1_1_1_11_1_1_1_1.111111.1.1.1.1_1_1_
c

UV |||V || 0|V |U| <00V C|LiVvVVvVvOOoO0Oonm
(7]

% oOlHNMmgEINON®O O OHINM TN ON® OO
Nt nOVNR DO AN T NOIN ONNO|OO|O|O|0|0C|0C0|0|H|dH| dH o dH|ldH -l - «|l-lN
O|co|0|co|c0|co|c0|co|0|o|d| ||| ||| || | o | o | o | | | ot | o | ot | e | et | e | e | e | e | e | e
c

< nmnuouid <0000V << oo
0
u1.2345678901.23456789012345678901234567890
Q444444444555555555566666666667777_/_/_/_/_I_Ioo
c

UV AQVVACaVNVVVVNC I onC <<V U oo mO
[7,]

Q

3 O N NITILNOINOANO =HINNITNONOV NO=H NMT WM ONOWOOO O
Q1234567891.1.111111.1_1_222222222233333333334

Page 38

WEBSITE :- www.prepebooks.com

MOB. :- 9929952283




